
Mesure d’un Rectangle (E)

Calculez les mesures manquantes pour chaque rectangle.
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P = 48,84 mm

A = 134,568 mm2

1.

?

?

P = 77,76 hm

A = 357,12 hm2

2.
?

?

P = 156 yd

A = 1440 yd2

3.

?

?

P = 179,8 dam

A = 1863 dam2

4.

?

?

P = 87,78 hm

A = 481,523 hm2

5.

?

?

P = 88,2 dm

A = 471,38 dm2

6.
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Mesure d’un Rectangle (E) Réponses

Calculez les mesures manquantes pour chaque rectangle.
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16,02 mm

P = 48,84 mm

A = 134,568 mm2
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24,0 hm

P = 77,76 hm

A = 357,12 hm2

2.
30
,0

y
d

48,0 yd

P = 156 yd

A = 1440 yd2

3.
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57,50 dam

P = 179,8 dam

A = 1863 dam2

4.

21
,7

h
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22,19 hm

P = 87,78 hm

A = 481,523 hm2

5.
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25,9 dm

P = 88,2 dm

A = 471,38 dm2

6.
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